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Weightage of Marks towards Objectives:

DESIGN AND BLUEPRINT

Objectives K U A S Total
Marks 76 72 106 42 296
Percentage 26 24 36 14 100
Weightage towards Form of Questions (to be answered):
Fomz. of (Objef:li ve) (Shgrt) (Lopg) Total
Questions Section A Section B Section C
Number of Questions 40 10 10
Marks Allotted 40 60 100 200
Time
(Minutes) 50 45 85 180
Level of Difficulty:
Level Percentage of Marks
(Difficult ) High 10
(Average) Medium 30
(Easy) Low 60

Scheme of sections and Options:

No. of Questions

Sections No of questions to be answered
A *40 40
16
B Last question is in 10
“either-or” form
16
C Last question is in 10

“either-or” form

Distribution of questions and marks towards Examples, exercises and outside the Text Book:

Section A Section B | Section C Total %
Marks
From Examples given in the text book *30
( Including theorems and results) (Text Book 7 6 132 44.6
Collection)
*10
From Exercises given in the text book Created 8 9 148 50
(COME BOOK)
From Outside the Text Book(Based
on the Syllabus) 1 1 16 >4
Total marks Section Wise 40 96 160 296 100
Weightage to Content : XII Mathematics
No of No of No of
SL.NO | Chapters 1 mark | 6 marks 10 Marks Total

1 Application of Matrices and Determinants 4 2 1 26

2 Vector Algebra 6 2 2 38

3 Complex Numbers 4 2 1 26

4 Analytical Geometry 4 1 3 40

5 Differential Calculus : Applications I 4 2 2 36

6 Differential Calculus : Applications II 2 1 1 18

7 Integral calculus 4 1 2 30

8 Differential equations 4 1 2 30

9 Discrete Mathematics 4 2 1 26

10 Probability Distribution 4 2 1 26

Total 40 16 16 296
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eTer@ey sr0UCC sweTUrCBHS 6)S51G0Y
ROV RDEVVTSS) 6TETUST) $A6) HTEwT
Yo wig).

Gl LM &e:

&5 Wwompude S500C L soarunl(Bd 6)$r&0OyY
OSSO L MHWST 6TaT FAUMFEE)D.
x—4y+7z=14;3x+ 8y — 2z = 13;
7x—8y+26z=05

13, ss0uC L sodTURC (RS 6)srsly
ROMEMWVEY HCWST ar sFURFTSH).
DEVUT L) RBHSEDNVE] L NMSTUPET
ST S ST (PHPUID &S,

X+y+z=7x+2y+3z2=18;,y+2z=6

S000CC 6)5r6U0HGA AW P& swaTUTCraTS)
1 1 1) 7
1 2 3 y] = 18]
0 1 2z 6
AX =B
N Peyou$s00CC vl
1117
[A,B]=|1 2 3 18]
01 2 6
1117
~ IO 1 2 11] R, > R, — R,
01 2 6
1 11 7
5 IO 1 2 11 l
0 0 0 =5 R; - R; —R,

s & FOraT TPWraTS) FMUG UG a6
207G, DG PaTH GEFLLWOHY Barsemerd
6)upgerersamsy, p[A,B] = 3.

1 11
0 1 2

0O 0 O
Boousgne), p(A) =2 0. plA,B] # p(4)

Couepo, A~ Qoer® ysLwwny Gegser

14, S
x+y+22=03x+2y+z=02x+y—-—2z=0
1 1 2
A=(3 2 1
21 -1

=1(-2-1)—-1(-3-2) +2(3 — 4)
=1(-3)—-1(-5)+2(1)=-34+5-2=0
A = 0 ereirUST6Y 6T SBESWHY &FeyseT
Bosen, Cuapd Aedarem 2 X 2 Lpmenls
Garensy
|§ ;| =2-3=-1=%*0 eqarugrs 6)grglurearg

Boenr® sosturBsaTrss SHMWO. Z = k,k € R
6T6TS.

x+y=-2k

2x +y =k
1 Yoq_o=_
A_Zzlk_ll 2=-1,
Ax: k 1:_2k_ :_3k1

—2k| _ B
. |—k+4k—5k

HCgofsr e9$0ue
_Ax_—3k_3k _ 4y 5k -
XA T T T T AT
(x,y,z) = (Bk,— 5k k) Sdeurs.

J15. Crivrpaessefw wfamsorny &9
b)uassedear Criwrm SsmwPwaearg Crmiwrm
enPsarsar ufems ornpmO 6)UGES)EGE
FOOTSO.
A oppo B ysfwonn Bsreaey
gewPser erers. |A| # 0 woppo |B| # 0 S60.
| AB| = |A||B | e1ar swées 6)sfuwo,
|A| # 0,|B| # 0= |A||B| # 0= |AB| # 0
etar@su. AB-yo ey YFPwwmpy Bsremey
SjePwrGo.
~ AB Guiwnm srewrss56635).

(AB) (B~'A™Y) = A (BB 1)A!

= AIA™Y = AA™Y = |

@@y (B~1A™Y) (AB) = 1 eter Bmevevno,

« (AB)(B1A™Y) = (B1A™ ) (4B) = I
AB-@sir Grdwrm B 1A sy60.

« (AB)™ = B4
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1. Gpiorg P scamed WpaypuPe §iés :
x—3y—8+10=0,3x+y=4,2x + 5y +6z=13

$iey : o0 sosTumB s T @,vmrP Semwiy

SR

AX = B,

1 -3 -8 X -10
@rueA=|3 1 0 .X=[y];B= 4
2 5 6 z 13

|A|=1(6—0)+3(18 — 0) — 8(15 — 2)
=1(6) + 3(18) —8(13)
=6+54—104=60—104=—44 %0

+] _|2 6| +|2 5|
e e B
7 ol -l Bl *5 7
[+(6— 0) —-(18-0) +(15-2)
=|-(-18+40) +(6+16) —(5+6)
+(0 +8) —(04+24) +(1+9)
6 —18 13
=|-22 22 —11]
8 —24 10
6 -22 8
adjA=|-18 22 —24]
13 -11 10

1 [6 -22 8
A_ —
IAI (adj A) = _44I 18 22 24]

13 —-11 10
1 [ 6 -22 817[-10
X=A7B=—r|-18 22 —24“4]
13 -11 10]l13
—60 — 88 + 104
= 180 + 88 — 312
=130 - 44.+130

il

x—1y 1,z=1|

2. @PaCsaramey snawe Waymuda $iés :

1 2 1 2 4 1 3 2 2
— ———=1,— -4+ —-=5—-————— =
Xy z X vy z X vy z
ey
1 1 1
—=a,—=b;—=cerers
X y g

& sroulC soarunbser
a+2b—c=1;2a+4b+c=53a—-2b—2c=0

6T6T MWW D.
1 2 -1
A=12 4 1
3 -2 =2

=1(-8+2)—2(—4-3) —1(—4—12)
=—6+14+16=24

1 2 -1
do=15 4 1
0 -2 -2
=1(-8+2) —2(=10— 0) —1(=10 — 0)
= —6+20+10 =24
1 1 -1
Ab =|2 5 1
3 0 -2
=1(=10+ 0) — 1(-4 — 3) — 1(0 — 15)
=—-10+7+15=12
1 2 1
Ac=[2 4 5
3 =2 0

=1(04+10)—-2(0—-15)+1(—-4—-12)
=10+30—16 =24
HCgwi 90U,
24

a=& —=1=>x=1
A 24
A, 12 1
b=3 =477y =2
—fe 2 1s=1
A 24

s iy (x,y,2) = (1,2,1)

QEUJQJLITITB&E::

Coiwrm Senf saewre) WyMWUP) &iés:

o 2x— y+43z=9,x+y+z=6,x—y+z=2

o Xx+y+2=92x+5y+7z2=52,2x+y— z=0

o

o 2x—y+z=7,3x+y— 5z=13,x+y+z=5

Gealig) Lmi&e:
gePsCGsreney e sremrs) pymude) &ids:
@ x+2y+z=7,2x— y+2z=4,x+y— 2z=—1
(Hint: A =14,A, =15,A, = 30,4, = 30)
S 2xX+y+z=5;x+y+z=4;x—-y+2z=1
(Hint: A =3,A, =3,A, =6,A, =3)
® X+Yy+7=4x—-y+z=22x+y—-z=1
(Hint: A =6,A, =6,A, = 6,4, = 12)
@ Bx+y—z=2;2x— y+2z=6;2x+y— 2z=—-2
(Hint: A =4,A, =4,A, =8,A, =12)
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2 -1 2
A, =16 =3 6[=0+ Ry, R, s sL0d
4 -2 4

A =0oppo A, = 4, = A, = 0 Gogo A,
Ay, Ay, A-@ar 6r6beur 2 X 2 Pppels Ganemey
0doyserw YELwmseT earae) A & GBYNHSS)
ggdurm@) GELWONYSGTEVTE) 6Tevr P60 W MM
Sieyser Qvéew. Cupsarc svaTurCBHS
08160y 06 s0aTUFCHESG SMHPLO.
6)sr(és00CC 0)grglunaTs) 2x —y +z =2
UG
y =5,z = t,5,t ER se160765.
2+s—t
2

s,t),s,tER

2x—s+t=2=22x=2+s—-t=>x=

2+s—t
. Sdevnerg) (x,y,z) = (—; )

soeTunC(BS 6)5r&60UrGw. G BsnNG 8F
RGO SIQYSET ST POQUO.

1 5 7 X 13
0 —-17 =22 y] =|-=27
0 0 -—199l1tz —398

x + 5y + 7z =13
-17y—-22z = =27
—199z = —398 = [z = 2]
=17y —222)=-27=> -17y =-27+44 =17
~y=—1]
x+5(-1)+72)=13=x=13+5-14=4
x=4,y=-1,z2=2

GG LTS
P SBsremey el Saevre) PVUID &hi&sS:
o x+y+27=4,2x+2y+4z=8,3x+3y+6z=12
o x+2y+37=6;2x+4y+6z=12;3x+6y+9z=18

Glenligy) UmT&s:

85 Y $0UCL SOGTUNC (S 6)5160Y
RONSDOGSS5T 6167 FPUTTES). DHEVIT L)
RONSNOGSSTUIET ST &6
2x+5y+7z2=52,x+y+z=9,2x+y— z=0

5. 86 womud) 500U sOSTUTCE'S 6)srg0Yy
ROREDOGSST eTaT FFPUTISS). DfUeuTy
RORSDOHSSTUIET SeNs &ids :

dx+3y+6z=25,x+5y+7z=13,2x+9y +z=1

i . . .

so0uCC gvarurBsalar e Hepwly

4 3 6|x7 [25
15 7 y]= 13]
2 9 1llzl [1
AX =B
4 3 6 25
[AB]=|1 5 7 13
2 9 1 1
15 7 13
~l4 3 6 25| R, <R,
2 91 1
1 5 7 13
~[o ~17 =22 -27| R, — R, —4R,
0 -1 -13 -25/ R; —R;—2R,

1 5 7 13
0 -17 =22 =27
0 0 —-199 -398/ R; —17R;—R,
s E FOraT TPWraTS) FHUG UG a6
2T S, G WETHY GFLWOHY Bygsenerd
Qupmerersas). o [A, Bl =3 S60.

~

1 5 7
CoewA~|0 —17 —22]
0 0 -199
P wery ysPwony Famgsat RGOUST6,
pA)=3

o (A)= p[A, Bl =3 = 0dodC Qevewrguw wrn)sefer
crar P sams. cTar@o, @& GHRSMOE

6. &5 WP roulc soaTuaC(B$ 6)5r&0Y
REWSMOGS5ST eTaT PUTISS). Ve
RORSDOGSSTIST JiSHNG $5655 :

x—3y—-8z=-10;3x+y — 4z = 0;
2x + 5y +6z—-13 =0
gia : , . :
so00CC swarUn(hseer g;mf’ c'ysb)wuq
1 —3 —8 l
AX B
1 -3 -8 =10
[AB] = 1 -4 0 ]
2 5 6 13

1 -3 -8 -10
~l0 10 20 30| R, —R,—3R,
0 11 22 331 R; —R;—2R,
1 -3 -8 -10 1
~[0 1 2 3| R—gk
0 1 2 3 1
R —R
- 110
1 -3 -8 -10
~lo 1 2 3
0 0 0 01l Ry—R;—R,

s sonar ePude) @gerl YFLWomy
Fegser e atarsasy, o [A, B] =2 60.

1 -3 -8
Gosyv A~|0 1 2
0o o 0

BPs» @rar® gpsPwony Fasser o erersas),

o (A)=2.

p(A)= p [A, Bl =2<0808C Gevssoriguw wanfsedsr
srarenPsens. eTar@s, $500UCC 6)Sr&UO NG
Tl SSWMHY &§i6Yser DGSGO.

B8 owsmws soarurC(HS 6)5r&OUTG.




Gaould Lomeul’ L Lo— LisTieflS s6allS gemm

Sg00CC sweTurC RS 6)$r&OUTETS). PETEUGHD
P GF0eTUrC(H'SGF FOTRTONMTSTSD.

IR R

x—3y—8z = -10 :----- (1)
y F 27 =B ceeurcsienannienns (2)
2=k € R erars.
QD) =>y=3-2z=3-2k
2)>x=-10+3y+8z=-10+3(3 —2k) + 8k
=-1+2k
Saevcers) x =2k—1,y=3 -2k, z=kkeR
CaAlg) LM &8
S0 W Sr0uCC sweTurC(BS 6)sreOy
ROWSMOGSST 6T6T FNUTASS). SI6V6VA 1)
RORSNOHSSTIIET YSMTS $7&s :
X+y+z=06,x+2y+3z=14,x+4y+7z=30
7. &80 W ss00CC svaTurCBS 6)srs0y
RONESMOESST 16T FAUTFSS). Djsauny
RORSOOHSSTUIET IFMETS &S :
xt+y —z=1,2x +2y — 2z = 2;
—-3x—-3y +3z = -3

Siey :
So00CC swerTurBsalaT e vy

1 1 -1 1
2 2 —2] y] = l 2 l
-3 -3 31z =3
AX =B
1 1 -1 17
2 2 =2 2
-3 -3 3 =3I
ll 1 -1 1

[AB] =

0 0 0 0O RRb—mR,—2R
0 0 0 0l R3—R3+3Ry
s sorar YePue) Cs ey YEFLwwmy

Segsrear areng). o [A, Bl = 1 960.

1 1 -1
Guepd A~[0 0 O l
0 0 O
PV 85 G YEFLWONY FRTSHOT 26767 STV,

o @A)=1
p(A)= pl[A, Bl =1<0d0PC Gevsirguw ©rseer
Tl saas. cTar@o), $50UCC 6)HTSOO NG
TN TP SMHWDY FTeYs6eT DSSD. @I
ROEMESMHVE FVETUNC (RS 6)SrGUUMGY. $500CC
sosTUrC(B'G 6)srGUUMaTS). OaTaGY
P ss0aTur_BHEGF FOTQTOIRTSTGD.

1 1 -1 1
l() 0 0 y] = Ol
0 0 01tz 0

x+y—z = 1 e e (1)
y=k1,Z = kz;kl;kz € R sr6ir5.

WD=>x=1-y+z=1-k, +k,

Sdevaars)

X = 1_k1+k2,y=k1,z=k2,k1,k2 €ER

Gl LM ées:

&5 Wy sroucC soeTur (S 6)$rE0Y
ROMESDOHSST 6TaT FNUTTSG). V6T )
RONEHOHSSTUIGT SMETS &i765 :
X—y+z=5-x+y—z=-52x -2y +2z=10

Jereug soaTurOsalar eGraamwas
SO TS,

2x— 3y+7z=53x+y—- x=13,2x + 19y — 47z =32

$aey :
Fgoul . sosrurhsalsr P Hyemwdy

2 -3 7 X 5
3 1 =3 y]: 13]
2 19 -471lzl (32
AX =B
2 -3 7 5
[AB]=|3 1 -3 13]
2 19 —47 32
3 7 5 . 1R1
N R
3 1 -3 13
2 19 —47 32
3 7 5
2 2 2
s 11 27 11| Ry > R, — 3R,
P 2 2
0 22 -54 271 Ry>R;—2R,
3 7 5

1 it - i
2 2 2
&5 11 27 11

2 2 2
0 0 0 51R3—>R3—4R,
s soraT JYPWraTS) FNUG ga6)
2 6TOTG), G PETH GEFLWONY FDHFSmeTO
ummerersnel. p [A, Bl =3 f6w. Cuend
3 7

2 2
A~ 11 27
0 —

2 2
0O 0 0
BPs Qe gpsLwwny Feygser o erarsae,
p0A)=2

0 (A)# oA Bl
eTer@ey, sr0UVCC swaTUTC(HS 6)5TGUY
ROHEMWE) DVVTSS) TETUSTE &6y STewr
Yo wng).
9. -@er steveur WHOYSEEEGD PETIGHD

sweTuaC (S 6)SrGUIGT Shiasamer ,5a0s.
x+y+z=22x+y-2z =2,

)
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D e e  — — — — — — — — — — —  —  —  — — —

Ax +y + 4z = 2

Shey :
Sg0uCC gweTurBsalaT Senf Yoy

AX =B
11 1 2
[AB]=|2 1 -2 2
A1 4 2
1 1 1 2
~l0 -1 -4 -2 | R,—R,—2R,
0 1-2 4—2 2-2A1 R;—R;—1R,
[1 1 1 2
~{0 -1 -4 =2
_0 _A _A _ZA R3 — R3 + R2
1 1 1 2
~{0 -1 -4 -2
0 0 32 0l R;—R;—1R,

dmew (1): 1 =0>p(A) =2;p[A,B] =2

p(A) = p[4,B] =2 <3 (0§08 Gsvsvorguw
0rP&PeET 6165 PS8 S.)

S GrouCC FoTUnC(HS 6)$rGUY BRSOV
D_OTOTS). YT 6TEUTTN GOSWMHY & (6ysemear
ORIACECTE

Fepev (i) : 1 # 0= p(4A) =3;p[A,B] =3

p(A) = p[A, B] =3 (=0800C Qsvenrig.w
OaPSePeT 6760 TP S60)S5.)

“SI0UCC 6)$760Y BMESMWEY 2 aTerd). 6TarGey
08 @6 Sialamear 6)uNPGSGO.

11 k 1
~[1 Kk 1 1| R,oRs
k11 1
1 1 k 1
~lo0 k=1 1-k 0 | R,—R,—R,
0 1—-k 1—k* 1—kl Ry — Ry —kR,
11 k 1
~lo k-1 1-k 0
0 0 2-k—-k* 1—kl Rs—>Rs+R,
1 1 k 1
~10 k-1 1—k 0]
0 0 @+k@A-k 1-k

Peev (): k=1=p(A)=1;p[AB] =1
p(4) = p[4,B] =1 < 3 (080C Gsvesorgw
orpseler eTevraPsems.)
s HgoolC soaTUrC RS 6)57160Y RGBS
D ETOTS). YETAEY CTOOTEGSWMHY & hi6yYsenerO
oD 6660.
Beey (i) : k = —2 = p(A) = 2;p[A,B] =3
. p) #pl4B]

scrar@sy $o00C L 6)S1GUY RGBSV
Bevevrsg), erar@s Sie) Saydsng).
Feey (iii) : k = -2 vpmo k +1

= p(4) =3;p[4,B] =3
p(A) = p[A,B] =3 (=080C Gevetirg.w
orfaeler erevmenPéems.)
2800 C 6)8505&0Y OBMSMWEY 2 aTend). 6TarT@6y

Cr e Sialemer 6)uNPBSGO.

10. k-@er sto0SOYysErds Odraugw soarua (s
Qgreoy kx + y +z=1x+ ky +z =
Lx+y+ kz =1 (i) 85 06 $iey (i)
@aTpse Cupulc Fhaey (iii) $iey Devraw
upd .

Shiey :

So00CC swsTurBsalar Yewf Yooy

-

Celig LMT&s:

v a@sgssr B 126 : \, u-@er

TOWSUYSE3ES

x+y+z=6x+2y+ 3z =10,

X+ 2y + 1z = p

erary soatus®sear (1) wre)sre $ie)o

Qunfsag (i) 9Cr 06 Sime

upeéew (iii) eramrenPSenswmnm

Shaeyaameard 6)umn GG 6TETUS6)ET

SIS,

v a@sgssrC B 128 1 1 -@ar TO0HOING
X+y+32=0,4x+3y+ 1z=0,2x+y+2z=0
eTery 6)Sr&00MG (i) e)ewalOue s &iey
(i) esvePOusnCwmy $iey Sy sG0.

& udp® 1.1 & 3,6,7,9

> eRsgsar Peer: 1.14,1.21,1.27

L 10




Gaould Lomeul’ L Lo— LisTieflS s6allS gemm

oLt & 6ol &0

Uifley -9 aflerr aflenLa6r

(eSleorm
6T 6507

efleorr

x?+y?+z2—6x +8y—10z+1=0 eretip Gsrembeor
sOLOWLD LHMID DbTLD

(3,—4,5),7

F=(-T+2T7+3k)+ t(2T+T+ k) wpmd 7 =
QT+ 37+ 5k)+s(T+27+ 3k ) aem  Car@ser
&l lgds G&TETEHD Le6Terf

(1,1,2)

T=ax(bxT)+b x (CxaT)+T x (Txb),
6T60T60

uw= 0

x=3 y+3 _ 2z-5
1~ 5 3

QWNTSHaD GCFOLESF gl BB IgeoTGI6UBLIT  FLoeoTLIT(E

&3 @smeorwnsa|d (1,3,5) uslterfl

=(T+37+5K) + ¢ (T+57+

)

N w
= o=y

a+b+c=0|al=3 |b|=4 || =5,z

@D b &G @emLiulL GHT6eoorid

T
2

(2,1,—1) eteorm U6l eUPUITERID SH6MRIGET
F-(T+37-k) =0 ; ¥ (7+2k) =0 Qougs
Q&EMeTEmBD GHM emL 2 6TemLSEWIEIOT6T H6THHleor FLosotUm(®

x+9y +11z =0

E’,F,E’ eTeorusoT @, b, ¢ <Bwenemm L OES6TTES G&HMe00T(H
EUELEEME  SIEMLDLINED 660TMIBGIGTEOTMI  G1& FI & dHSHIT 60T
QeudLTE6T 6606y [, F c'] @6t i

abc

x=3 _ y-1_ z-5 T _z-3 -
s 2 3 oo a 2 -3 D

GCuETHBHEHEHMLCW 2 6T6m s GennHES GIHTN6L6)]

a b LEFSWLHD QeUELITSEsID M @b L&fwnnm
HsnauleLrsalld @il ma DLeoT&l QIevGE GeubLIT
6T60TI6D ,

10

30+ f ~k 6T60TD GEUSL6M 6(h P66V  6XIL L LDTEHELD
=37+ 4k D @b UEBIHED QBTE0TTL  EN60600T D] &6
uriy

11

x—6 _y+4 _z-4 LD miLh x+1 _ y+2 __ z+43
-6 4 -8 Do == =7 =

Q6 lgh Q&T6TEHD  LeTelf

660t QBT HH6IT

(0,0,—-4)

12

[T+_]_),]_)+ K,k + T] @sor Ldiiy

2

(2,10,1) eromn ueirefdgo 7 - (37— T+ 4k ) = 2v26 6o
HMTHENGSD @emLlUlL DGd Gonbs &b

2

14

ax (bxc)+b x (€ xa)+c x(a xb)=x x y,
6760160

xX=0

DIVEVE Y = 0 Si6devEl
X — Yy

LD @)6D600T T GLD

15

x-1 _ y-2 _ z-3 T X-2 _ y—4 _
2 3 5 UbOi 3 3 5

GuTHBHEHEH MG 2 6T6m lesd GennhES GEHTEn6V6]

75 :
=— eT60TM

1

V6
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: 5 6T SeoL

6T 6307
16 a  Lmmibd b areorh @Ivg GeubLT wnmid 6 ereTugl .
Seunfing @emLiu’ L Gsmeoorb a + b DETEI RTVG 0 =

@b LyTuileor

17 |20+ 37 +4k ,atU + bl +ck U Qoubliss
QEFRIGHE GebLITHemmulleor

18 r=sU+ t] et Fw6TUT® GSOIILE! X0y &6D
19 |p,q whod p'+q  NLuwene ersooreoorene)] A QET60OTL
.. . i \/51
QeudL iTsemmuiest | p — q | <6018l
20 |PR=27+ T+ k QS =-T+37+2k aetfled, 5v3
BIm&ErD PQRS @&eor Uiy 2
21 L _ g _Z RN e Il W i
g - d ;ppu 3~ -5 2 Qb HEITLD  SIEMLOITHEMEL
A ABBHTH'GHEHLD
22 | [@+b,b+¢, c+3a]= 8 aafed [@, b, ¢'] @6 Wiy 4

23 | T4+ar-k e elews T+ J eemid ueTeMeuf@uE
@&weoL@EDE! j + Fsr@mb UseMlemuwil QUTMIGE! 5|H60T 2
Smius Hpsfesr oemey V8 aefled a @eor Wiy

24 2,b,C  erevieor b HEMD SEMWT QUL TH6T GLsVLd
axb,b xT, Txa]=[a+b,b+¢, c+a] aefed 2

[5, l_; E’] @\sor &y

25 @ GsTEH x WLWHNILD y DFFSEHL6OT DS
Hemaulled45°, 600 CarevThiISsDST FHUGESIENE 6T6ollsd Z 60°
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